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A 200-kg flywheel 1s at rest when a constant 300 N-m couple 1s
applied. After executing 560 revolutions, the flywheel reaches its
rated speed of 2400 rpm. Knowmg that the radius of gyration of the
flywheel 1s 400 mn mm, determine the average magnitude of the couple
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The rotor of an electric motor has an angular velocity of 3600 rpm
when the load and power are cut off. The 110-1b rotor, which has a
centroidal radius of gyration of 9 in., then coasts to rest. Knowing that
the kinetic friction of the rotor produces a couple with a magnitude of
2.5 1b-ft, determine the number of revolutions that the rotor executes
before coming to rest.
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